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RESULTS OF THE PHYSICS QUESTIONNAIRE FOR FRENCH STUDENTS  

Here is a summary of 
the results with 
comments and feed-
back for the 10 
students who 
answered (8 have 
written their name + 2 
anonymous) 

The two blocks  arrive at the same time  
(true if you ignore the fricition).  
It was Galileo who first found it out by 
dropping objects from the leaning 
tower of Pisa … 

Correct answer is nr.4 .  
Nr.2 “At each height, the potential energy is 
inversely proportional to the kinetic energy”  
is wrong! This would mean their product is 
constant, instead it is the sum which is constant!  

Correct answer: 9,2 m. Here you did very well!! 

This is a tricky question because you don’t know 
the masses of Carlo and Giulio, so the correct 
answer is n.4 (The available info is not enough) 

Correct answer nr.1 . Most of you were right !! 
If there is no friction then the mechanical energy 
is conserved so the balls will rebound at the same 
height from which they were dropped! 
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Correct answer is 1,07 m. 
If you conserve energy, at the beginning there is 
only kinetic, at the end there is potential and 
some kinetic left, you get: h= (25-4)/2g =1,07 m 
You don’t need the mass of the object to answer. 

Correct answer: NO 
The explanation given in the last answer for on of you is perfect! 

Correct answer: NO. Most of you were right!! 
Total energy at point A = kinetic + potential = 12,5 + 49 = 61,5 J 
Potential energy at point B = 98 J, too big!  

Correct answer: 4,47 m/s . Most of you were right!!! 
The work done on the box is 30 J and this is its kinetic energy! 

Well done! Most of you were correct in all three subquestions a), b), c). 
You are very good at conversions! Almost all perfect answers!  
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Correct answer: Work = F * x = 2,7 N X 0,45 m = 1,2 J > 1,0 J 

 
It is Galileo’s 
experiment again… 
But they tried it  
on the Moon too! 

Correct answer: 7 W 
This was not easy! You can calculate like this: 
Work = g*m*(h1+h2+h3+h4)= 
9,8*3,5*(0+0,082+2*0,082+3*0,082+4*0,082)= 9,8*3,5*0,82=28,1 J 
Power= Work/time = (28,1 J / 4s)= 7 W 
                                    

Correct answer: 4,34 kg. Well done, most of you were right! 

THANK YOU VERY MUCH FOR PARTICIPATING  
TO THE QUESTIONNARIE.  

 
YOUR THE RESULTS WERE RATHER GOOD !! 

 
HOPE YOU HAD FUN  

AND MAY BE REFRESHED SOMETHING ABOUT ENERGY 
THAT YOU DID NOT REMEMBER ANY MORE! 


